VGM MF-S %
4

BERE :

BE:
L1: —ERLERy
L2 : ZERtE®y
L3: =EsLE®




ME-S JREEZE#E

BREE
o —EBE —BRE SER
b EELD BEE(LD) (L)
9,12,15,16, 27,36,45,4
MF70S 3457 20,21,252 8,60,75,80,
8,35,49 100
9,12,15,16, 27,36,45,4
MF90 3.4.57 20,21,252 8,60,75,80,
8,35,49 100
9,12,15,16, 27,36,45,4
MF90S 3457 20,21,252 8,60,75,80,
8,35,49 100
9,12,15,16, 27,36,45,4
MF120S 3.4.57 20,21,252 8,60,75,80,
8,35,49 100
9,12,15,16,
20,21,25,2 27,36,45,4
MF150S 3,4,5,7,10 8,30,35, 8,60,75,80,
40,49,50,7 90
0,100
9,12,15,16,
20,21,25,2 27,36,45,4
MF180S 3,4,57,10 830,35 860,75,80,
40,49,50,7 90
0,100
EiEH LRBHRAT EERE 2 gL
ME-S BARKE
S By ER¥ JBAREL, © MFO70S - MF090S = MF120S | MF150S = MF180S
3 25 80 190 450 1,050
4 34 90 230 520 1,120
L1 5 30 86 220 500 1,100
7 25 82 200 480 1,080
10 — — — 450 1,050
9 25 80 200 480 1,080
15 25 80 200 480 1,080
20 34 90 230 520 1,120
25 30 86 220 500 1,100
L2 35 30 86 220 500 1,100
40 — — — 450 1,120
HUEH T Nm 49 25 80 200 480 1,080
70 — — — 450 1,080
100 — — — 450 1,050
27 34 90 230 520 1,120
36 25 80 200 480 1,080
45 25 80 200 480 1,080
3 48 25 80 200 480 1,080
60 25 80 200 480 1,080
75 25 80 200 480 1,080
80 34 90 230 520 1,120
100 34 90 230 — —
e Nm L1,L2,L3 | 3~100 2. 5(ZEnEm e
fivat N2 rpm L1,L2,L3 | 3~100 3,000 3,000 2,000 2,000 2,000
A AR rpm L1,L2,L3 | 3~100 4,500 4,500 3,000 3,000 3,000
[ ) L1 3~10 <10~15 : <10~15 : <10~15 <8~12 <8~12
PEHIR aremin L2 9~100 @ <16~20 : <16~20 @ <16~20 : <10~14 @ <10~14
R Nm/arcmin© L1,L2,L3 : 3~100 4 13 35 64 135
BYREH N L1,L2,L3 | 3~100 1,790 1,920 3,770 6,290 9,910
b3 (=l N L1,L2,L3 | 3~100 930 1,010 2,075 3,210 5,800
S Ay hr L1,2,3 | 3~100 20,000
L1 3~10 >96%
R % L2 9-100 >93%
L3 27~100 >90%
L1 3~10 15 3.2 5 8.5 37
=B kg L2 9~100 1.9 4 7.2 9.9 46.4
L3 27~100 2.2 5 8.2 12.3
ERRE € L1,L2,L3 | 3~100 -10°C ~ + 90°C
e L1,L2L3 | 3~100 2EMEBHIE
AT |E] L1,L2Ll3 | 3~100 FEAM
 IEEE dBA L1123 | 3~100 - 70 <70 - <70 <74 <74
1. oty sass CRIGE LR A , 2y R & BIS SELT Al e 2 e .

2. BEREL: i = WARER/ Rk

.

3. BrRME: V2SI RIE MIRETE 2 M.

4. BARBREIIFEAMET: FATHTH T OAE , FEEo RN [E50%, ¥2100rom, &4 TR B .

R ELER<C0RRAL T , P I SRR E; B ER=60%Z LR AR T , P I AR B2

IE'#EE‘JSO%D

. BREE: EE%V\E, ERRE BUER AR, S TS 2 5dE .




RYBEZ:

L1

1AL
R~f MFO70S ~ MF0S0S = MF120S = MF150S = MF180S
D1 eﬂﬁ%@ﬁéﬁﬁﬁ[ﬁ]ﬁ 75 105 130 165 215
D2 HAOESEAER 5.5 6.8 8.7 105 13
D3 HTHERE 14 18 24 38 50
D4 HA=5[SMEERE 60 80 110 130 160
D5 HIT AR R E R 15 20 35 40 60
D6 tﬂﬁmﬁg%ﬁﬁﬂﬂ M5x0.8P | M6x1P : M8x1.25P 2"%52); 2"%;
D7 ek [l =NERES 90 120 150 190 240
L1 Hisdk 70 92 115 142 182
L2 Hjﬁmﬁéﬁgmﬂj% 325 45 56 75 95
L3 MhamEs IS ERE 3 3 3.5 4 10
L4 HOTHR R S 1 1 1 1 2
L5 BEKE 20 25 40 45 70
Hi 77 Rl R i
L6 hr 2 5 5 5 6
1B 496 56 62.1 103.1 127
L8 AERKE 2 B 72 84 90.1 138.6 209
3B 93.8 112 118.1 174 201
L9 HT IR FLIRE 3 4 4 8 10
L10 tﬂﬁmﬁgﬁﬂﬁ&& 14 18 20 32 34
L1l H = SRR R 10 12 136 18.4 26
C1 A1 E:E!%&}LF ] 70 100 100 165 200
2 ATTEZLIELT A M5x0.8P  M6x1P  M8x1.25P M1Ox15P  /'*2"
C3 LKA E R 6.35~14 @ 14~19 16~24 22-42 35~42
c4 LARRREE 32,5 42.1 47.4 69.5 82.5
cs 2;3/\73%[@&,%@ 50 80 80 130 114.3
Co6 Ebﬁ/\ﬁ?s@&%% 4 5 5 15 1
c7 ATTERZHK 70 92 115 142 182
C8 ATTEZRE 475 47.1 52 86.9 110
1 B 129.6 148.1 170.1 265.5 332
Cc9 ﬁ%éﬁé 2 B 152 176.1 198.1 300.5 414
} 3 B 173.8 204.1 226.1 336.4 496
C10 EFLHULEE 12 12.5 14.5 27 30
Cl1 ATAZERAER 90 120 150 190 240
Bl BT 5 6 8 10 14
H1 H R+ R RS 16 20.5 27 41 53.5
1. CI~C6 AARIRAELAEERN T, R R AMEE .




